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1.	On the diagram, colour the liquid in this hydraulic system�(see page 82). 


2.	Complete the sentences :


The driver’s foot pushes the piston to exert a _____________


on the liquid.


This 	 is then transmitted to 2 � , on�each side of a large disc on the axle.


The � makes the � squeeze the disc


(like the brakes on a bicycle) to slow down the car.


Exactly the same � is applied to the other brakes


on the car.








This machine is a force-magnifier. If the ‘slave’ pistons at�the disc have twice the area of the ‘master’ � ,�they will each exert � the force that the driver�applies with her foot.


3.	How could the force be made three times as big?


4.	Why would this machine not work well if there was a gas in�the pipe? Use the idea of molecules to explain your answer.


5.	Why is it dangerous if air gets into a car braking system?





� EMBED Equation.3  ���
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